3 WolframAlpha sz

[ Integral(1/(x(X+1)(X+2)(X+3)(X+4)(X+5) (X+6)(X+7)))dx E ]

Indefinite integral:

1
dx =
fx(x+1)(x+2)(x+3)(x+4)(x+5)((x+6)(x+7)) X
1
—( -71 1+ 211 2)- 351 3
5040(OQ(X) og(x+ 1) + 21log(x + 2) 0g(X+ 3) +
35log(x + 4) — 21 log(x + 5) + 7 log(x + 6) — log(X + 7)) + constant

Plots of the integral:
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Alternate forms of the integral:

1
——(og(x) — 7log(x + 1) +
5040( 9(X) a( )

7 3log(x+2)—5log(x+ 3) + 5log(x+ 4) — 3log(x + 5) + log(X + 6)) — log(X + 7)) + constant
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Alternate form assuming x is positive:

log(x) + 21 log( X+2) +7log( X+6) —log(x+ 7) + 70coth X2 x+ 7)

x+5 X+l

+ constant
5040
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